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SINE (il Al

"Let Marmee think we are getting things for ourselves, and then surprise her."
"It's the best we've had yet,"” said Meq.

"You're a regular Shakespeare!” exclaimed Beth.

"Glad to find you so merry, my girls,” said a cheery voice at the door.

"You're a dear, and nothing else," answered Meg warmly.

"I've got a treat for you after supper,” said Mrs. March.

"A quick, bright smile went round like a streak of sunshine.”

"Welcome to the real world. It sucks. You're gonna love it."

"Because you were worth the wait."”

"I'm gonna miss you so much."”

"We were on a break!"

"I can't believe this is over."

"I thought I'd be with someone by now. I thought I'd have a kid by now."

"I'm not good at commitment. But with you, it's different.”
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2. Hugging Face Transformers

-Hugging Face Transformers= Al210{ AI2I(NLP), B&Ci HIF, S8 214l S
Cikst 200l A sta

st El Transformer D2 E KHISol= = A Python 21012212
PyTorch, TensorFlow, JAXQ} @ 2Hr|[H, SEfct REIE 2f1HI S84 AIEE L QI E AR
-FQ EE:

. BERT, GPT, RoBERTa, T5 S LISt At SIS El IE KIS
o pipeline APIE Soll 44 241, i, Q9 EIO|SE S LIt Bigl nndll 7t
° Hugging Face HUbE Soll 22 & HIOICiA S+ & CI=2=2E TS
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3.0pen AI GPT @)

OpenAl GPT(Generative Pre-trained Transformer)= OpenAIfj|A{1 THE!S! i Q10 BE=,
OITHIL RAlISt AP0 WA R Ololl SEHE BE1 =

GPT-3, GPT-3.5, GPT-4 39| H{Z0| 12, Ci&et 0H=S2IFI0IH0IA ESElLl S

=0 EERI
—

HNE &y, MY, QY EHoSE, IC 48 SOt A TS

OpenAl APIE Soll 220 226101 0HE2I7AI0140 St 7S
ChatGPT2t Z2 [HSta Al AHIAO] 78t RHZ AIS
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4.Pandas ||

-pandas= PythonOiiAl CIOIE] 241 REIS Qlet @E N 20|82 2I=,
£46I tll0I= &chel HIoICIE S 2E o= A2le L 9 E Al
DataFramel} Seriesgl= 5 THhl £ HIOIE1 15 E HMISoHH, CIet CI0IE] glalol == X BA 7|52 251 98

i SO

CSV Excel, SQL S CI2¥et CI0IC] &4io] &= AlR
Hiolci Ecigl, dE=, A, 8et S Cr&et OIoId £5 715 IS
AlZt ATHIE CIOIE] A2l & 22X A2l 71S Al



Al'7|E e H2l-A A

CH
o

Ipip install transformers pandas
:Python StEMNIA 5 THCl =2 21012 212|2! transformers2}t pandasE &Alot= HE04

Ipip install gradio
Python EtE0i|A Gradio 2I0|EZH2IE &A
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import pandas as pd

from transformers import pipeline
import gradio as gr

from openai import OpenAl

import random

# OpenAl API 7|

client = OpenAlI(api_key="sk-proj-
PmJvBAIkAkjk_8sJ34UONncGKkDEELplQRa6la25VaQtaCrpXjnvwii8Z283c92rjtdesRImF504
M2T3BlbkFJeJEifKxDSO1mK2Ksw8a4MMOrAR8p5GIhFbwflMg3KAZpioeUGaqgzirXzZEXxOX
IlgNaUdU_jQR") # 01710l &All API 7] =

# idd 264 4 ST
classifier = pipeline(”sentiment-analysis”)

# TH2! THAI hiZ2hITI 2iEist S0 CHoll 24 =S freliolad,

file_cache = {} 1 B Clst oH2 S GPT REE Soll BHol= TISS HIS

# GPT olj&!

def gpt_explain(text, sentiment): gpt_explain 8= MY, U8 &, =& 48 =4 S= E810! Shlst £28=
='::°':1{1t2tx:}f' HIZISHOL, AIERITI 2B S BEC EORIE £ UIEEESR

71E 28 28: {sentiment}
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try:
response = client.chat.completions.create(
model="gpt-3.5-turbo”,
messages=[{"role": "user”, "content”: prompt}],
temperature=0.7,
)
return response.choices[0].message.content.strip()
except Exception as e:
return f"[GPT 2&] {str(e)}”
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# A HhH WolAl - &E iE UE 24
def analyze_single(text):
result = classifier(text)[0]
sentiment = result[”label”]
explanation = gpt_explain(text, sentiment)
return " Z&: {sentiment} (£IE|E: {result['score’]:.2f})", explanation

# 5 il WOlAl - FAll CSV 4E =4

def analyze_preset_csv(type_choice):
file_map = {

"uIE": "EIE.CS"”’

":?': ": "-?.:-”.CS\I",

"_E'_'é_'!.": "_E'_'é_'l..cs""’

"ﬂa": "ﬂa-csv”

}

path = file_map.get(type_choice)
if not path:
return "K|=¢t £4E40] OFElLICE"

A il e84 = hShIERc] BE 2EES S0 CH
. |

df = pd.read_csv(path)
if 'text’ not in df.columns:
return ""text’ &EO0| SA=LICL."

df["sentiment”] = df["text”].apply(lambda x: classifier(x)[0]["label"])
df.reset_index(inplace=True)

df.rename(columns={"index": "t#is"}, inplace=True)

return df
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e =42 ol 2= HiSoHH,
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# Ml i HIOIAl - =2 ottt 27| + GPT o4
def analyze_one_by_one(type_choice, idx, direction):
file_map = {
"ul:"- "ul: csv"
""'7'" ":::7' csv"

[/ Esl.". /4 E ol.-csvll’

"ﬂE": "ﬂ;l..csv"

}
path = file_map.get(type_choice)
if not path:
return ll1c_)r§-6l-_|. A E_|l.|0| OI'I-ILIEI' ”woorn ""’ idx

if type_choice not in file_cache:
df = pd.read_csv(path)
file_cache[type_choice] = df
else:
df = file_cache[type_choice]

if 'text’ not in df.columns:
return "'text’ Z=0| GASLICL"”, "","", idx

if direction == "next":
idx +=1
elif directio
idx-=1

—— "prev":

P\

=i
=

SHE-ICHS

-

if idx<0:

return ,,ﬁi:O'LIE*.", ""’ ""’ 0

if idx >= len(df):
return "Z20| =EeSHSLICL", """, "", len(df) - 1

text = df.loc[idx, "text"”]

sentiment = classifier(text)[0]["label"]
explanation = gpt_explain(text, sentiment)
return text, f" ZHE: {sentiment}”, explanation, idx

OlZi€! 7IS2 Gradio 2ICiml0I

0l 5= hiZAITH dEYSE Tl a12I2] CSV nh2:0il
o= oiLHY ZhIECE =22t 4E E4iE o,
1 70l CHE GPT s &= HIS
il IHEE Soll 8S= SShlTIN,
oisn 2SS Zhlotol hlﬂﬁlﬂllﬂl E{EISt HIAIRI= HIS
"=a olLI Zu{= 71" &M =2
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# Ul &ml HolAl - 48 FE
def get_quiz_qguestion(category):
file_map ={
"OIE": "0IE.csv”,
"S71":"S7l.csv”,
=28 "E8kesv”,
o1 "= csy”
}
path = file_map.get(category)
if not path:
return "QS0olA| 242 MEHRILICL", ", "", 0

df = pd.read_csv(path)

idx = random.randint(0, len(df) - 1)
text = df.loc[idx, "text"]

label = classifier(text)[0]1["label"]
return text, label, idx

# B EHE A3 + GPT ol&d E=7tot71
def check_answer(user_choice, correct_label, text):
if user_choice.upper() == correct_label:
result = "HERILICH 2"
else:
result = f"E310{2] HE2 {correct_label}2ILICL."
explanation = gpt_explain(text, correct_label)
return result, explanation
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# Gradio Ul /14
with gr.Blocks() as demo:
gr.Markdown("<h2 style="text-align: center;' > 241 9i</h2>")

#1 =8 EH 2=
with gr.Tab("1. 2Z} EIE 1=1"):
input_text = gr.Textbox(label="2%} 21=1", lines=4)
output_Llabel = gr.Textbox(label="1H 241 H}")
gpt_output = gr.Textbox(label="GPT oH&!”, lines=8)
with gr.Row():
clear_btn = gr.Button(”Clear”, variant="secondary")
submit_btn = gr.Button(”"Submit”, variant="primary"”)
submit_btn.click(analyze_single, inputs=input_text, outputs=[output_Llabel, gpt_output])
clear_btn.click(lambda: ("", "", ""), outputs=[input_text, output_label, gpt_output])

b lole! 2t A 0l Python ICE L =4 71 (IEZIAI0IHE T3S HORE,
dropt.:lown = ;_:nI:Radio[chmcesl_[_"l[llE", "S71", "2, "e1=3"], label="F |1 2| HE=H" htEZhIT 2= 2I=iolH oliS =80] ZE= -E-’—'!'c'ilI'..
zﬁll;taftgf==%r£;:::gg;.1'ﬂ:?';§* CSV 244") ET= GPT-3.5= EE0ol0l olZ= HISol= 11SE REal S
start_l:;cn.click.[analyze_preset_csv, inputs=dropdown, outputs=output_df) _I:Eal', CSV I_II'%E E [HE‘ Lo El;'.l’ EEHE' "é" -E-‘l‘.',

da #E 32| 1ISk =8I0 2=
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# 3. 2B SILH KT ) get_btn = gr.Button(" 2/ THR271")
with gr.Tab("3. 2% oL &2mE7]"): submit_btn = gr.Button("HIZ5171")

category = gr.Radio(choices=["0IE", "S£71", "8}, "¢15"], label="7F|tl|12] £1=4")
sentence_output = gr.Textbox(label="2%", lines=3) get_btn.click(get_quiz_question, inputs=quiz_category, outputs=[quiz_question, correct_label_state, quiz_idx])
sentiment_output = gr.Textbox(label="17%& Hil}") submit_btn.click(
explanation_output = gr.Textbox(label="GPT glf&", lines=8) check_answer,
index_state = gr.State(0)

inputs=[quiz_choices, correct_label_state, quiz_question],
with gr.Row():

outputs=[quiz_result, quiz_explanation]

prev_btn = gr.Button("EJ 0|5 25" )

next_btn = gr.Button("CI= 2E [3")
next_btn.click( # £lsH

analyze_one_by_one, demo.launch(share=True)

inputs=[category, index_state, gr.Textbox(value="next", visible=False])], STl— SEIS OIE 12 h{EH=

outputs=[sentence_output, sentiment_output, explanation_output, index_state] hl‘.:.ﬁl‘._ o= | OI'-H LI‘ Csy "'I‘ == _'OHH

HAHS NS~ S HrS (=)

) 48 =S Ddlolal, Z0t0 CHSE GPT TIHH sl &= BIE 2t A=

prev_btn.click(
analyze_one_by_one,

inputs=[category, index_state, gr.Textbox(value="prev”, visible=False]], ]_E)é!- E!F-I OIE=I EH
outputs=[sentence_output, sentiment_output, explanation_output, index_state] o & '”i‘“ csv E" 0|I: “+FEd B A4 EH
) . (R =
3.3 otLi &7 &
#4 U™ B A |~ OrE =l
with gr.Tab("4. Z& 3| & 26171"): L. oo T'I Ol-” =
gr.Markdown("S2ES H T LEH0| SEOIA| HEOIR| L6 HAIL!") 5.4l

quiz_category = gr.Radio(choices=["0OIE", "S£7|", "2}”, "¢1=2"], label="TF {1 2| HEH"
quiz_question = gr.Textbox(label="ZH| 2%}", lines=3, interactive=False)

quiz_choicl:es = gr.Radio[[t:hoicies=["I:OSITIVE", "NEGHlTI\;E"], label="17] HEH") Ol AV = Soll CiYet 2ralo s LR B A y
quiz_result = gr.Textbox(label="Z&1}", interactive=False AIZERIO] AlAiS HIS2 oIS
quiz_explanation = gr.Textbox(label="GPT sli&!", lines=8) = 1t0l CHoll 25521 oS S AUS

correct_label_state = gr.State("")
quiz_idx = gr.State(0)



I
IH
0

=

~O

GPT o &

—
o
L
o




LEd AT S 2EMHOH ZEEY 3 EFcMaElET|] 4. ZFE =AY

| think maybe I'm not such a people person anymaore. I've missed you so much.

]

ZHE: NEGATIVE (2 2| £: 0.64)

GPT &fj &

cL
"OfDf L= O[] AZHE FOISHE AFRHO| OFtl 2 20F, L4 LR L} 1294380}

2 27 6

0] ZE&2 "I think maybe I'm not such a people person anymore." £20| A Rt 0] AFEE Z0EHE| R =CH0 =712 2 S0, "I've missed you so much." 20| A 2|25l 0 9l= ACH=

oz #REUL
CEEIE L)
2I4g (1Y)

- AR elAe] st (=2

(22 2 o)
O] BAE ATH 2 2|98 B E AHAIC| AR SO}A| RreTHe 47ho] 2oHe g Ly =

Clear

=13
=

|
=1

2|
—

Zt
(|

He=

=il

TS5 ZHH S BHE5ET 910 A NEGATIVE ZHE

o

e LICh YOig= 22| floks 281 Al 9| #otof et =20 WASH:E 250 ERL|CL

A




=
Mo
o
il
it
e
Ju

2. MH HO|E 2™ EA 3 BEASIIN MEET| & 24E = @]

7| E| A=t

O o= =7 =% o=
dEigkcsv 24
S  text sentiment,
] "It's always been you, Rach.” POSITIVE
1 “Welcome to the real world. It sucks. You're gonna love it." POSITIVE
2 "Because you were worth the wait." POSITIVE
3 "I'm gonna miss you so much.” POSITIVE
4 "We were on a break!" POSITIVE
5 "I can’'t believe this is over." NEGATIVE
6 “I thought I'd be with someone by now. I thought I°'d have a kid by now." NEGATIVE
7 “I'm not good at commitment. But with wyou, it’'s different." POSITIVE
8 "I never thought I'd be able to love someone so much." POSITIVE
9 "He's not dead! I can feel it." POSITIVE
10 "I dumped youxr ass." NEGATIVE

11 "You don't have to do this alone.” POSITIVE
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"Welcome to the real world. It sucks. You're gonna love it."
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(Reads) “April 3rd to April 5th: Three days of rain.” (She looks up or him.) That's all?
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